All information contained in this document are property of CARLO GAUAZZI SPACE.
All rights reserved.

SD OVERVIEWS

NOTES

#4-490 SCREW TIGHTENING TORQUE 65 INCH OUNCES
#8-32 SCREW TIGHTENING TORQUE 13 INCH POUNDS
#10-32 SCREW TIGHTENING TORQUE 22 INCH POUNDS
a CARD RETAINER SCREW TIGHTENING TORQUE 5 INCH POUNDS
% FOR PART LIST SEE DRAWING 04-AMS-110 01 08
(&8
|
8 A |©8/81/20803| HIGHFTECH
|
% /  |18/12/2002| HIGHF TECH
[¢p]
<I| REV DATE DRAWN CHECK ENG. PR. ASS. C. of C. CHANGE AUTHORITY
L
o ErrECTIOTTY CARLO GAUAZZI SPACE
o DRAWING TITLE SCALE GEN. TOL.
G |AMS B2 - CRATES NO ScaL
= GEN. RA. CARLO GAUAZZI
S |[CRATE ASSY v/
@
5 | (UGCRATE) —— @
Y
— HIGHER ASSEMBLY DRAWING NUMBER SHEET OF
L 84-AMS-116.60.66 1

2 3 | 4 5




All information contained in this document are property of CARLO GAUAZZI SPACE.
All rights reserved.

REQUIRED FOR HANDLING - REMOVE BEFORE INSTALLATION

G
a\
B
A
24

HIGHER ASSEMBLY DRAWING NUMBER SHEET oF
04-AMS-116.66.066

13
o 3D OVERVIEWS
@ ‘ NOTES
@ #4-490 SCREW TIGHTENING TORQUE B85 INCH OUNCES
H#8-32 SCREW TIGHTENING TORQUE 13 INCH POUNDS
#10-32 SCREW TIGHTENING TORQUE 22 INCH POUNDS
q}: CARD RETAINER SCREW TIGHTENING TORQUE S INCH POUNDS
?_J FOR PART LIST SEE DRAWING 04-AMS-110.01 .06
|
8 A |88/81/2683| HIGHFTECH
|
% / 118/12/2002| HIGHFTECH
[6p]
<E| REU DATE DRAWN CHECK ENG. PR. ASS. C. of C. CHANGE AUTHORITY
L
CUSTOMER ID
g EFFECTIVITY CARLO GAUAZZI SPACE
o DRAWING TITLE SCALE GEN. TOL.
& |AMS 02 - CRATES oscaEl
= . . CARLO GAVAZZI
5 |CRATE ASSY v v
[a4
& |(UGCRATE) = &
u
—
[

N

2 3 | 4 5




